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Partner Partner
A ;‘72 B
X
New
Partnership
- putting in $50 million - putting in assets having
a value in excess of
- receives: debenture for $215 million
-§50 million (although - borrowing $165 million

subordinated} and
55% partnershlp interest - will distribute

R*v"

9 net contribution

e ©

§165 million to

- recejves: $165 million
that in cash or as assumption
of liabilities and 45%

partner B or use it to artnership interest
discharge B's liabilities
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$50 million T 3 85D mon Cox it oo — C&éuwauw =0

B's pet contribution = in excess of $50 million (depending on final value of
agsets)

Note:

The value of the assets is not determined and highly speculative. A is
receiving a higher percentage of the partnership because of the risk it is
taking in investing in the partnership and helping to eliminate Partner B's

liabili

ties.
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